
 

DISCLAIMER 

This EPD was prepared to the best of knowledge of Danfoss A/S. The life cycle assessment calculations were 
performed in accordance with ISO 14040 & 14044 and EN15804+A2.  
All results were internally reviewed by independent experts. While this declaration has followed the guidance of ISO 
14025, it has not been externally verified or registered by an EPD programme and therefore does not fully comply 
with the ISO 14025 standard. 
This EPD has been published by Danfoss A/S on Danfoss Product Store and Danfoss Website. For questions, feedback 
or requests please contact your Danfoss sales representative.   

 

 

https://assets.danfoss.com/documents/latest/208293/BI428053137382en-000101.pdf


  

 
2 

 

• 

• 

(X = declared module; MNR = module not relevant) 



  

 
3 

 

 

Table 2: Product composition 
 

https://store.danfoss.com/en/Climate-Solutions-for-heating/Hydronic-Balancing-and-Control/Differential-Pressure-Control/Partner-valves/ASV-BD/ASV-BD%2C-DN-50%2C-Internal-thread/p/003Z4046#documentWrapper
https://store.danfoss.com/en/Climate-Solutions-for-heating/Hydronic-Balancing-and-Control/Differential-Pressure-Control/Partner-valves/ASV-BD/ASV-BD%2C-DN-50%2C-Internal-thread/p/003Z4046#documentWrapper


  

 
4 

 

 
 

Steel (excl, stainless 

steel)Iron

Copper and its alloys 

(Brass)

Plastic  with no GF

Rubbers

Other
Packaging



  

 
5 

 



  

 
6 

 

• 

• 

• 

• 

https://www.danfoss.com/en-in/about-danfoss/company/sustainability/energy-climate-and-environment/


  

 
7 

 



  

 
8 

 

75%

80%

85%

90%

95%

100%

GWPT [kg

CO2 eq.]

ODP [kg

CFC-11 eq.]

AP [Mole

of H+ eq.]

EPfw [kg P

eq.]

EPmar [kg

N eq.]

EPter

[Mole of N

eq.]

POFP [kg

NMVOC

eq.]

ADPE [kg

Sb eq.]

ADPF [MJ] WDP [m³
world

equiv.]

Production Distribution Packaging waste treatment End-of-Life



  

 

1,43E+01 7,17E-01 3,32E-01 0,00E+00 2,55E-02 1,88E-01 4,40E-02 -3,23E+00 

1,46E+01 7,10E-01 1,97E-02 0,00E+00 2,55E-02 1,86E-01 4,39E-02 -3,23E+00 

-3,12E-01 0,00E+00 3,12E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

2,79E-02 7,37E-03 1,62E-05 0,00E+00 6,22E-07 1,92E-03 1,05E-04 -4,25E-03 

1,50E-10 1,19E-13 1,77E-14 0,00E+00 3,01E-18 3,10E-14 7,68E-14 -3,45E-11 

3,33E-02 1,37E-03 1,10E-04 0,00E+00 3,60E-05 1,18E-03 2,93E-04 -8,32E-03 

3,30E-05 1,93E-06 9,61E-07 0,00E+00 5,58E-09 5,04E-07 2,18E-06 -5,80E-06 

7,70E-03 5,89E-04 5,82E-05 0,00E+00 1,40E-05 5,88E-04 1,01E-04 -1,61E-03 

8,32E-02 6,31E-03 5,34E-04 0,00E+00 1,58E-04 6,39E-03 1,11E-03 -1,75E-02 

2,11E-02 1,24E-03 1,44E-04 0,00E+00 3,33E-05 1,10E-03 2,44E-04 -4,73E-03 

2,87E-03 4,76E-08 2,33E-09 0,00E+00 9,17E-10 1,24E-08 2,30E-09 -1,08E-03 

2,50E+02 9,18E+00 2,69E-01 0,00E+00 3,72E-01 2,40E+00 6,15E-01 -5,58E+01 

2,69E+00 3,28E-03 7,10E-04 0,00E+00 4,35E-05 8,55E-04 2,98E-03 -6,16E-01 



  

 

The total carbon footprint, cradle-to-grave, of the product is 1,56E+01kg CO2-eq (A1-C4). The carbon footprint of production of this product, cradle-
to-gate, is 1,43E+01 kg CO2-eq (A1-A3).  



  

 

1,07E+02 6,92E-01 1,85E-02 0.00E+00 1,23E-03 1,81E-01 6,94E-02 -2,20E+01 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

1,07E+02 6,92E-01 1,85E-02 0.00E+00 1,23E-03 1,81E-01 6,94E-02 -2,20E+01 

2,41E+02 9,18E+00 2,69E-01 0.00E+00 3,72E-01 2,40E+00 6,15E-01 -5,58E+01 

8,94E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

2,50E+02 9,18E+00 2,69E-01 0.00E+00 3,72E-01 2,40E+00 6,15E-01 -5,58E+01 

2,29E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

9,39E-02 3,42E-04 2,30E-05 0.00E+00 1,97E-06 8,92E-05 8,77E-05 -1,84E-02 

 

 



  

 

2,35E-07 3,68E-10 4,49E-11 0,00E+00 2,56E-12 9,61E-11 8,17E-11 -8,69E-09 

2,64E-01 1,28E-03 8,17E-02 0,00E+00 3,72E-05 3,34E-04 1,63E+00 5,91E-02 

2,23E-02 1,73E-05 1,83E-06 0,00E+00 3,98E-07 4,52E-06 4,37E-06 -4,94E-03 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 1,62E+00 0,00E+00 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

2,51E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 



  

 

 

 

4,30E-07 1,17E-08 7,99E-10 0,00E+00 2,14E-10 7,77E-09 2,88E-09 -7,22E-08 

3,40E+00 2,49E-03 2,38E-04 0,00E+00 5,64E-05 6,49E-04 5,15E-04 -7,34E-01 

7,25E+01 1,19E+01 2,08E-01 0,00E+00 2,73E-01 3,11E+00 5,90E-01 -1,88E+01 

7,95E-09 1,61E-10 3,59E-12 0,00E+00 5,01E-12 4,21E-11 9,39E-12 -7,46E-10 

1,16E-07 9,00E-09 2,41E-10 0,00E+00 1,64E-10 2,35E-09 2,96E-10 -2,52E-08 

8,46E+01 4,06E+00 3,41E-02 0,00E+00 9,51E-04 1,06E+00 8,46E-02 -1,40E+01 

 



Danfoss Climate Solutions A/S 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Annex 1: The sales codes of all LENO™ ASV-BD covered in this EPD 
 

Table 13: LENO™ ASV-BD codes, covered by this EPD 

Sales Code Product Description Total Gross 
Weight (kg) 

Conversion 
factor 

003Z4041 ASV-BD DN15 Int. 1,02  

003Z4042 ASV-BD DN20 1,12  

003Z4043 ASV-BD DN25 1,32  

003Z4044 ASV-BD DN32 2,11  

003Z4045 ASV-BD DN40 2,33  

003Z4046 ASV-BD DN50 2,74  

 

To calculate the actual GWPT of purchased product, multiply the GWPT from this EPD with the 
conversion factor of the purchased product sales code. 

 

Example:  

Sales code: 003Z4044 

Conversion factor: 0,77 

GWPT A1-A3: 1,43E+01 kgCO2eq/product 

Climate change A1-A3 0,77 x 1,43E+01 kgCO2eq = 1,10E+01 kgCO2eq 

GWPT A1-C4: 1,56E+01 kgCO2eq/product 

Climate change A1-C4 0,77 x 1,56E+01 kgCO2eq = 1,20E+01 kgCO2eq 

 

 

 

 

 

 

 

 

 

 

 

 


